Intro to college math: Chapter 2.4
Formulas

* Formula — is an equation that contains more than one variable.
* Solving for a variable — we isolate that variable on one side of the equal sign, and everything else
will be on the other side.
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3. Solve the following for the indicated variable. Y- q = {5, ch_ b (o) for 3
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4. Solve the following for the indicated variable. Lg‘\(. Y '—l% =43
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* Now, to get rid of the number in front of y, we
1 % = ‘-k Q- lo X divide everything by the number in front of y.
1 L 7 * Simplify if able. Use your calculator.
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5. Use the formula 3x + 7y = 21 to find y when:
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7. Solve the formula 3x -y = 2 for y.
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8. Solve the formula 5x -y = 1 for y.
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